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Time allowed for the test: 50 minutes
HIBZEFRE - 50 o35

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note: PER

Not all diagrams are drawn to scale. LB R E o

SECTION A (60 marks) v 2R (60 4)

Choose the correct answer. You only need to FONENEE cBEA R EE P rEE
write down the letter preceding the selected FhE e 2B o

answer.

1. The monthly sales of a supermarket 1. R4 F? F EBiTiE
is three million and five hundred ItgrE2EIEE T
thousand when corrected to the FRh— I8 ¥ 5y A3%A T B e
nearest hundred thousand. Which P ER Y = —ﬁ;;;;ﬁ;; j(g)g_oo :
of the following could be the actual A $3400 000
monthly sales of the supermarket? 2' g 288 888

$35400 000

D.
A. $3 446 000  Three million and five hundred A. $3 446 000
thousand is 3 500 000.

Corrected to the neargst
I $3 528 000 hundred thousand I $3 528 000
A, $3400 000
C.$3553000 4 334000 C. $3 553 000
C.  $3600 000
D. $35356 000 p $35 400 000 D. $35 356 000
2. Each box can hold 16 books at 2. E RISV ILp 16 2F o R
most. Mr Chen has 202 books. A43202+7F > BT EBS
How many boxes does he need at U VT F 0

least in order to hold all the books?

A 12 202+16 A 12 202:16
=12...10 =12---10

I 13 He needs 13 boxes at least in I 13 ﬁx ;f?’ iﬁ; #HF+ 13 B4 7z
order to hold all the books. P F e

C. 14 C. 14

D. 15 D. 15




Planting Plan
A Bl
Daily amount of tree planting per person | Total number of planting days
54 2 i e PRETRE
12 5
3. There are 27 employees in a farm. 3. REHF 27T LR o dr%k 2NE

If all employees plant trees I PR R B R
according to the above plan, how A e

many trees do they plant in total?

A. 60 They plant A. 60 AR i
12x5%x27 12x5%x27

B. 324 = 1620(trees) B. 324 =1620(+%)

C. 810 C. 810

l 1620 l 1620

4. A school will distribute 2 oranges 4, F e m 284 P 2B #

to each student. There are 157 + o R 157 L E 2 EnkiE o
students in the queue but the school EE R BRI 300 R 7 g
has only prepared 300 oranges. REFEEFZPBY

How many more oranges does the

school need?

A.7  Thenumber of oranges that the A.7 FREFEH
school needs is 2x157—300

I 14 :f2157—300 I 14 4G

C.24 C.24

D. 143 D. 143




5. What is the result of adding up all
the factors of 35?

B

B. 47

The result of adding up all the
factors is:
1+5+7+35=48

C. 13
D. 12

The factors of 35 are: 1, 5, 7, 35.

5. 4 35 e FldoAp 4r i % ALY

A Q
W s

B. 47

35 chF|#F 1157350
Ao 4e i & F
1+5+7+35=48

C. 13
D. 12

6. The following figures are three

squares of the same size.

6. T WA= 4 | Ap ke el A o

If each stands for 1,

what 1s the value of the sum of the
shaded parts?

5

A — The value of the sum of the
"8 shaded parts is
3 4 2 4
I T 6 78 16
3
4
C.1

1

D. lg

dr¥ 7 B

fx%\,l,

LN
7o

PR RN Apdefs R & B E_ %
?

A_%.@%%gwﬁfﬁﬁmii
E 16+ 56
T
C.1
1
D. )

B AT @ % (] 6)



7. Find the H.C.F. of 32 and 192. 7. £324r 192 7 H.CF. -

l32 832 192 l32 832 192

4 4 24 4 4 24
B. 16 Po° B. 16 16
8x4 =32 8x4 =32
Cc g  TheHCFof32and192is32. C. 3 32 4 192 ¢ H.C.F. 232 -
D.4 D.4
: o : 3
8. Mary bought a bag of flour with 8. v 1 - K& 3?kg LV Uk 2
3 7 7 1
3?kg. After she used gkg and do T gkg fe ljkg 4 H@iTgme
1
ITkg to make bread and dumplings, Tokg+ (& > BAAT Sk 5 0

how much flour was left?

A. 221{ There was A. 2£k BT
40 371 40 37 1
7 Sl RN
B0k =1 B.-270ke = 15500
1 1
C.25ke C.2gke
19 B2
I I 40 ke 1 40 kg

B AT EE () 6) 6



9. There are 120 balloons in each bag,
8
15 of the balloons are blue. How
many balloons are blue in total if

there are 18 bags?

A. 2160 The total number of blue balloons is

8
I 1152 120x7£ %18
= 1152

C. 64
D. 56

&ﬁ§§ﬁ$UW$wf—%”*

g 041\7'5:3?1'“”;5 18 fft‘;;f: B ) E_
dFI LB ?

A.2160 +7 &9 53

8
I 1152 120x7 %18
= 1152 (1)
C.64
D. 56

10. There are 42%kg of mung beans. If

1
every 27kg of mung beans are
packed into a bag, how many bags

of mung beans can be filled up at

most?
B
1
B.19 ~ 7%
17 bags of mung beans can
C.21 be filled up at most.
D. 23

5 .. _ 1
10. R 42§kg BE o Ark Z?kg

- R BT RN

s 39

- 5,1
428.22

1
B. 19 =150
B5TEE TR

C.21
D. 23




11. Arrange the following three numbers | 11. 3 /2 F = B #cd -] T % 27 ¢

from the smallest to the largest:
662% 6i 6.64 662% ~ 6i ~ 6.64
CRRVERS 14T
9
I662%<664<6—662% 6.62 I662%<664<6H
9 14 =6.642--} 0]
B662%<6W<664 B662%<6H<664
9 9
C6H <662% < 6.64 C6W < 662% < 6.64
9 9
D. 6.64 < 662% < 6? D. 6.64 < 662% < 67,

12. There are 180 peach trees in an 12. & % [f] 7 180 B ¥vit - H P 25%
orchard and 25% of them are F BT o detk 40% 0 TR AT
non-flowering trees. If 40% of the FhER O FEEOFE AT S
flowering peach trees bear fruit, Sk 9
how many flowering peach trees bear
fruit?

A. 18 The number of ﬂowering . A. 18 R
peﬁgg triei tzhsit/ bezro gmt is Y 180x(1 — 25%)><40F%

B.27 sy B.27 ™)

I >4 I 54

D. 81 D. 81




4L

13. In the above figure, how much 13. 2 'Rl 3%7 7 k5% >7°
water 1s there in the container?

A.2.1L There is A.2.1L FEYGOK
4+8x5 4-+-8%5

I 2.5L =2.5M) I a5 25

C.3.7L C.3.7L

D. 5L D. 5L

A&m A&m 6cm i 6cm i
4cm 4cm Sem Som

14. Which of the following figures can 14, * v BE &= &£75 4ot B¥T
be formed by using four right-angled T ¥ A T R B3 9

triangles as shown in the above

figure? L
I. rectangle L &2
I1. triangle N I = &7
I11. parallelogram | I+ 7w §4)

A.Tand II only

A vy 1211
IIandIII only I I A 1
C
D

C. II and III only

g
.

IT 2 III

Y

D. I, IT and III I~ 0




15. Which of the following descriptions | 15. & 7| ¥Rt fif 3t o 18 A5 engy if £t
about quadrilaterals is correct? FEen 9
I. There are four axes of [ & 2255 v i ¥4l
symmetry in a rectangle.
II. The four sides of a rhombus I #5efERppE
are equal in length.
III. There are two pairs of parallel Il & > 2355 & 24T
opposite sides in a square.
A.TandITonly 1 A r3 121
B. I and III only B. 73 12 1II
I IT and IIT only I r3 Iz 0
D. I, IT and III D. I-1I% III
Area E
E %
0 Area F
F % N
X X
Areal
ol | X
X
X X
Area K Area H
K% H %
16. In the above figure, Area Gisinthe |16. %t Bl > G % &+ H % g A = >
northwest of Area H. Which Area K % et = R F ?
1s in the north of Area K?
A.Area E A.E%®
I Area F I F %
C.AreaH C.H®
D. Area | D.T%
BTN B (] 6 10



@%LXN

17. In the above figure, when the car 17. A+ Bl §i2 7RI & T
arrives at the junction, it will turn 2= ¢ # S AR oD
left and go ahead. In which direction Zféw - > 7% 7
will the car go ahead when it turns
left?

A. north A
I northwest I v A
C. south C. =
D. southeast D. 4=

A

14cm
v
b 18cm g
18. The circles inside the rectangle 18. & & A5 #15 [Flehis ‘,5'3 M o

are of the same size. What is the

radius of each circle?

A. 9cm The radius of each circle is
18+2+2

B. 7cm =4.5(cm)

I 4.5cm

D. 3.5cm

/J\
FpEenL s 7

A.9cm  F BRIOEEA
18+2+2

B. 7cm = 4.5(Cm)

I 4.5cm

D. 3.5cm

BATALAIH B % (] 6)

11



14cm

19. The above figure is formed by a 19. 'Bld - B335 - Bw s -
square, a quarter circle and a Flir— B X Flex 6§20
semi-circle. What is the perimeter R 500G %)

22
of the figure? (Take 7 as a

A. 75cm The perimeter of the figure is A.75cm Bl AL
14><2><—2 4+l4><2 2+14x3 14><2><—+4+14><2+2+14><3
B s6cm Bl s6cm ! !
= 86(cm) = 86(cm)
C. 96cm C. 96cm
D. 130cm D. 130cm

20. In the above figure, what is the area | 20. F B ? > R34 hm fF 427
of the shaded part? 59
A.224cm?  The area of the shaded part is A. 224cm? FERISA dh AL
(4x2)x4+2x2+ (4x5)x(4x2) (4x2)x4+2x2+(4x5)
— 2 X(4X
B o2 =02 B ooem 02,
C. l4cm? C. 14cm?
D. 12cm? D. 12cm?

BATIH A E X () 6) 12



21. A rectangular garden is in a lawn of

length 25m and width 15m, as

shown above. There are 14 tulips per

square metre in the garden. How

many tulips are there in the garden

in total?

A. 5250 The length of the rectangular gardgn is:
25—5—5=15(m)
The width of the rectangular garden is:

B. 3150 15—2—2=11(m)
There are

2310 14xasx11

= 2310(tulips)

D. 2100

S

-

om Garden ML 15m
-1l
I2m
25m
21. - & 25m> B ISmenie P 5
_ fﬁ;{,-&ﬂj?ﬁ[ﬂ v e b BT o T:
FE0 4G 4RE LS

L IR,

A.5250 BRI
25—5—5=15(m)
£ TR

B. 3150 15—2—2 = 11(m)
R

I 2310 l4><l5><1Fl
= 2310(#)

D. 2100

S

LI

22. According to the above figures, what

1s the volume of a cylinder?

The volume of a cube is:
20+2 = 10(cm?)

(130— 10x4)+3 = 30(cm?)

The volume of a cylinder is:

=i

22. R E -

LN
o

S
|

130mL

O

B F et ff 1%

?
A.40cm® - B e A
20+2 = 10(cm?)
3 - ek A
I 30em” 130 " 0xay+3 = 30(em)
C. 10cm?
D. 5cm?

13



b gd % BigE Sem ep

ke AR RS Y 9

~

23. The above solid is formed by cubes 23. r
with side S5cm. What is the volume
of the solid?

2

A. 750cm®  The volume of the solid is A. 750cm’® %2 AR AL
5x5x5x9 5x5x5x9
B. 875cm® - 1125cm) B.875cm? Cm)
C. 1000cm’® C. 1000cm’®
l 1125¢cm’
o Y 120m
8cm
15cm
24. When 10 steel balls of the same 24. 4= 10 FREAF A0 6 c0dh TR AR 40P
volume are taken out from the tank, Bedl 5 R R 2em 0 F PR IR
the water level drops to 2cm. What A S S 9
1s the volume of each steel ball?
l 36¢cm>  The volume of each steel ball is l 36cm> o vk ek A 2
15x8x(5—2)+10 15x8x(5—2)+10
B. 60cm®  ~ 2™ B. 60cm® = 3™
C. 240cm? C. 240cm?
D. 360cm? D. 360cm?

B ATALUH £ 5 (L 6) 14



25. Mr Lee drove from home to a resort

through service station, the total
distance is 95km. In the first 25
minutes, he drove at an average speed
of 72km/h. Then, he drove for
another Skm and reached the service

station. How far was he from the

resort?
A. 30km The distance is
95— 72><% 5
C. 55km

25 2 A4 F B R FE 0 g

AR BH 28 95km o #
2 T2km/h i R T 25 A

48 o —ﬂ 7% Skm {$ ’;1]1§,F'7 #h oo
PR ERE B RF SR 7

A. 30km © iEsE B R
95— 72x% 5

B. 40km - = 60(km)

C. 55km

(o)

Start Time
B 4o B R

26. The above clock recorded the time

that Leo used in riding a bike for
2880m. What was his average speed?

l 3.2m/s His average speed was
2880+(60x15)

B.5.33m/s _ o2(M)

C. 19.2km/h
D. 30km/h

(o)

Finish Time

P Bl sEesr T 3 BED B
2880m #7#* pFE [ oo s el 35
FES Y

l 3.2m/s

B. 5.33m/s

8 e ¥ S g
2880+(60x15)
=3.2(m/s)

C. 19.2km/h
D. 30km/h

15



Number of Births in City F in the Past Ten Years

F s L #endid Ak

—
B

—_—
S N

A A gk(FEA)

Number of Births (in ten thousand)

27. According to the above graph, how
many year(s) is/are the number of
births lower than the average number
of births in City F in the past ten

2012 2013 2014 2015 2016 2017 2018 2019 2020 2021

Year

£ iy

27. P FPE O FH 4 50 Eend 4L
Bl iFd L EhT a4 A i ?

years?

A. 7 The average number of births in the past A7 W2 L EHT NS A FE
ten years is (10+94+10+8+11+13+10

B.5 (10+9+10+8+11+13+10+9+6 B.5 +9+6+4)+10

T )10 : — 9§ )

= 9(in ten thousand)

E - E

D.2 D.2

BATRAIN E 5 (] 6) 16



Sunday
E8p

Monday
54—

Tuesday
A=
Wednesday
5=

Thursday
5w

Friday
5T

28. If each computer cost $5500, how
much could the store get from the

sales of computers in the past six

days?

A. $16500
B. $33000

B 51587 000
D. $231 000

Sales of Computers in a Store in the Past Six Days

S E A S

Each stands for 1 computer
=B Y= &1

a D

e e e
e = ==
e
e e e e
J J \ J \ J
= == = == = == = == = == = ==

The store got
5500x(6+3+5+4+7+9)

28. ‘Q\T'-‘;t—s- L: ';F:}J“ég
T Har

» X &g R M

A. $16500
B. $33000
B 51587 000
D. $231 000

$5500 > 3% k2

Henzesg .57 4 9

18 il 4
5500%(6+3+5+4
+749)

= $187 000

BATALAH E % (] 6)

17



Admission Tickets Sold for a Gallery Yesterday

F R ATAEPE R & N B

70
60
2 50
S
= 40
e
B i 30
2% 20
5
Z 10
0 . ;
Senior Citizen  Adult Student Child Type
¥ = A g4 i ek

29. What was the percentage of all the

tickets sold was for senior citizens

yesterday?
A. 17.5% The percentage is 0
I 20% 240(3)/0+ss+70+35 <100%
C.27.5%
D. 35%

29. FF % B N EE PR 2P E

H A2 M9

A.17.5% W 10 0
I20% _2402255+70+35X100/°
C.27.5%

D. 35%

30. If 2m+1.6m = 16.2, what is the value

30. 4o% 2m+1.6m=16.2 > 7R &

of m—1.25? m—125 ¢ ® 509
A2 2m+1.6m=16.2 A.2
m=4.5

I3.25 m—125=45-125=325 I3’25

C.45 C.45

D.6 D.6

End of Section A
B 2K
BATAEAH & 5 () 6) 18



SECTION B (40 marks)
Working steps must be shown in answering
questions in this section unless specified

z 38 (40 &)
B B AR
RIS K

otherwise.
31. The following table shows the weight | 31. & % 7| = M 3 &k ahE & o
of three brands of flour.
Brand Weight (Each Pack)
L TE(F 2 )
M 2.4kg
19
N §kg
3
L 2 5 kg

(a) During the cooking competition,
the five participants used 4 packs
of Brand M flour in total.

How many grams of flour did
each participant use on average?

(Give the answer only) [2 marks]

E* T 403 Mg o
Tias A% G 5
FABNER) [2 4]

1920
T iax A v G mEs
1000x2.4x4+5

1920 =1920(g)
Each participant used
1000x2.4x4+5
= 1920(%;. ., .. L
(b) According to the above table, (b) 145+ % > FHiE | Hos Boh
which brand of flour has the I3 FERYR- G
largest weight? Explain by using kg o [4 ~]
. . .- o~ 19
the conversion between decimals W N 4D ahE £ & 0707 =2.375(kg)
D . . 53

The weight oanaa%g(f)‘lﬁlér is: 2.37f %arks] W3 LA R 2? = 2.6(kg)
The weight of Brand L flour is: 2= = 2.6(kg) AT S Loangme i E o (H 5 & 1Lf3
So Brand L flour has the largest weight. (Accept any f » T RX)

other reasonable explanation)
L

BATALAIH B % (] 6)

19



32. Shop A had 365kg of oil while
Shop B had 384kg of oil.

(a) Shop A used n kg of oil each day.

(b) Shop B used all the oil in 17 days.

How much was left after 15 days?
(Give the answer only and
express the answer in terms of 7)

(365—15n) [2 marks]

During the first 16 days, Shop B
used m kg of oil each day. On the
last day, only 16kg of oil was
left. How much oil did Shop B
use on each of the first 16 days?
(Use equation to solve the
problem and show working steps)

16m—+16 =384
m=23 [4 marks]

Shop B used 23kg of oil on each of the first 16 days.

32. A 7 365kg @ B 7 384kg

oo

(@) A T3 2 % 4 pkg i o
15285 > A B4 502
(FRABMERT U n AT ¥
*) [2 ~]
(365—15n)

(b) B & 17 * p * 2 2305 o
BE 16% > BRIk 3
4 mkge dkfs- % 0 ¥
#17 16kg° B &g 16 =
TyaE v d 5 Q(E
AR E 2 N3 [44]
16m—+16 =384

m=23
B}:hlit'ﬁ 16 = T3ax = % & 54 23kg o

(5 E % (] 6) 20



3ch

15cm

33. (a) The above figure is made from 33.(a) * ®ld - B ] Jefkap ke
ten rectangles of the same size E AR o & R
and same shape. What is the e R R Z (R ER
perimeter of each rectangle? %) [2 4]
(Give the answer only) [2 marks] 24
24 5"*4}5’15?{301’1’1’

The width of a rectangle is 3cm. T? _' ? mTE {u 15 ;3'X2 = 9(cm)
The length of a rectangle is: 15— 3x2 = 9(cm) AR
The perimeter of each rectangle is: (9 + 3)x2 = 24(cm) (9+3)x2 = 24(cm)
(b) What is the area of the whole (b) & Ao 2% 5 7
figure? [4 marks] 9x3x10 [4 %]
9x3x10 270
sty £ 1 B2 e 4% £ 270cm? «
The area of the whole figure is 270cm?.

B ATREA B & 5 (] 6) 21



Happy Flower Shop
$ 1R R

2
/A

Fragrant Flower Shop
ShIR

b
4 /=2

34. (a) The Happy Flower Shop sold the | 34. (a) & {& =k 2 & § «185% &

above vase for 85% of its original

price. The additional packing fee

was $25. How much should a

customer pay for purchasing a

vase with packing fee in total?
220x85% +25

=212 [4 marks]
A customer should pay $212 in total.

(b) The Fragrant Flower Shop sold
the above vase for 90% of its
original price and no additional
fee was needed for packing. In
which flower shop did Mr Lau
buy the vase with packing
cheaper? Explain by using data.

The amount Mr Lau had to pay for the vase
with packing in Fragrant Flower Shop was: [4 marks]
240x90% = $216, 216> 212, so it’s cheaper

to buy in Happy Flower Shop.(Accept any
other reasonable explanation)

Happy .. .
(¢) The original price of a bunch of
flowers was $125. Mr Lau bought

this bunch of flowers at a special

v TERY s F e B$25 & %
BooREERLY - B oA e X
I ESQ [4 A ]

o,

)

=N

220x85%+ 25
=212

R

¥

= IR %212 o

(b) A TR R H90% &
EREE IR SRR
FlALG AoR— BRI EEY 2 &
EFLR B 73 Bz
# o [4 /]
FEER ST N SRR St
B 1 1 240x90% = $216 > 216>212 »

Sl hE R R T R E -

(8 ERRRS TR
%

xr -

(©) - kTR E$125 FlE 2
11$85.5 i A LR 0 i 4

R ERRERICE & ¥

offer of $85.5, how much did F %) [2 4]
he save? (Give the answer only) 39.5 .
39.5 woE g
He save [2 marks] 125—85.5
125855 =$39.5
=$39.5

BATAEAIH © 5 (] 6) 22



Sales of Lemon Tea in a Drink Shop

e b iR g R A E

7
— Sweetened
— dupEen

- or
= n 17 Unsweetened
g n I 7 4ofen
3 5
< B
i E
¥ 4F ]
=L F
e
& 3 B
@) |
G [
o L
#] 21
= —
/0] L

1 b

ok

35. (a) In which month did the drink shop

sell the most lemon tea? How

June, 11400 many cups of lemon tea were sold }

April: 4200+3400 7600(cups)

in total? (Give the answer only)
May: 5200+ 5400 = 10600(cups)
June: 5400+ 6000 = 11400(cups) [2 marks]
July: 60{)b+ﬁ0007 11000(cups)

ach shop assistant can get a gift,
if the sales of lemon tea in a
month was 10000 cups or above.
How many gifts did each shop
;gﬁﬁﬁiﬁﬂﬁﬁﬁﬁﬁ§ﬁﬁﬁ

(Give the answer only) [2 marks]
10600, 11400 and 11000 cups respectively.

(¢) From May to July, what was the
average monthly sales of lemon

(5200 + 5400 + 5400 + 6000+ 6000+ 5000)=3
_ 11000 tea in the drink shop? [4 marks]

1
[ = T~ T

35.(a) A&k -

July Month
= A

i

BARs 28 800 R
114005 P 2(REBRAE &)
4200+ 3400 = 760047 ) 5
5200+ 5400 = 10600(47 ) [2 4]

5400+ 6000 = 11400(#F)
* 6000+ 5000 = 11000(#F)

(b) 4% 5 " RFF e EL T
10000 48«11+ » & &R B ¥
A

N —ff; ] ﬁﬁ;mﬁi/ﬂ\w{
10600 47« 11400 45 §= 11000 5 ©

() T " 32-7% » AR Tias
PANREER S O H D
(5200 -+ 5400+ 5400+ 6000+ 6000+ 3000)+3
= 11000 (4~ ]

ey\

I'he average monthly sales of lemon fea 1n the drink
shop was 11000 cups.

B AT @ % (] 6)
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36. There are 12 plastic balls in a box.
There are 12 plastic sticks in a box,
in which 8 of them are 10cm long

each and the rest are Scm long each.

36. — £ Wikt 1240 - £9HT 12
o> HY 84 L £ 10cm > H4L

£ Scm

Plastic Balls -
e
E—

Plastic Sticks

% tr

(a) A box of plastic balls cost $3.5
and a box of plastic sticks cost
$9.6. Claudia bought 4 boxes of
plastic balls and 6 boxes of

plastic sticks, how much should

she pay in total? (Give the answer

only) /!¢ [2 marks]

She should pay
3.5%4+49.6x6
=$71.6

(b) Claudia uses a box of plastic balls

and two boxes of plastic sticks to

make a cube. On the answer

(@) - £%RL$35 - gWE L
$9.6° R EMHE 4 £ %3kir6
ERH B RRES D
(FABNER)

71.6
W

3.5x449.6x6

=$71.6

[2 7~ ]

(b) LR ¥ - &£ Bsxfra £ 015
Wivs - BE A AFA

A F 3% E 2 8 e AR

sheet, draw the net of that cube. oo [2 & ]
(Accept any other correct answer)
[2 marks] (L6 BAE% %+ 7HA) S
b [bsem
ENnd of Test Papef-—i---iri—tffte
PSR IS O O
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